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Exercise 1B

1 Find the nth term of these sequences.
a 5,11,17,23, b 10,3,-4,-11
¢ aa+2a+4,a+6,

2 Find the terms indicated in each of these arithmetic sequences:

a 2,11,20, ... 15th term

b 1,13 12th term

1
c 3,711, ... (n + 1)th term
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The fourth term of an arithmetic sequence is 18 and the
common difference is 5. Find the first term and the nth term.
The fourth term of an arithmetic sequence is 0 and the
fourteenth term is 40. Find the common difference and the

first term.

A job advertisement states that the job carries a salary of

€48000 per year rising by annual increments of €500. How much
would the salary be after 15 years? How many years would a
person have to hold this position for a 50% salary increase on the
initial salary?





